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- Entropy is related to degrees of freedom. Matter entropy is related to the
volume, e.g., Sakur-Tetrode entropy (1912), the entropy of a monatomic
classical ideal gas which incorporates quantum considerations

s (] ()] ).

- Black hole entropy is in the area, the Bekenstein-Hawking entropy S = }1
Ap, = h, the Planck area (G =1, ¢ = 1, kg = 1). Points to the ultimate
degrees of freedom are in the area not volume. Works of 1970s.

- This is well established for nonextremal black holes: thermodynamics of
black holes, Euclidean formulation and path integral approach to statistical
mechanics.

- Not so for extremal black holes. The Euclidean formulation shows that
S = 0 due to trivial topology (Hawking, Horowitz, Ross 1995, Teitelboim
1995). On the other hand string theory formulation of black holes shows
S = 1A+ (Strominger, Vafa 1996). There is a problem here.

- We use matter to study black hole entropy. Use the simplest form of matter:
a shell. Amazingly, it reflects and gives a solution to the debate.
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Gop =8nTyp, VpFo =dmj® (G=1,c=1).
In the inner region 7; (r < R) we assume the spacetime is flat, i.e.
ds? = giwdxadxﬁ = —di? +dr* +r*dQ*.

In the outer region ¥, (r > R), the spacetime is Reissner-Nordstrom

2m 2 ar?
ds; = gopdx®dxP = — 1——+Q—2 diy + —————— +r°dQ’.
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On the hypersurface itself, r = R, the metric A, is that of a 2-sphere plus time,
dst = hgpdy*dy’ = —dt* + R*(1)dQ? .
The metric Ay, is the induced metric,
b= Sup eaely, hy= gopetaelsy,
where ¢¥, and e, are tangent vectors to the hypersurface viewed from the
inner and outer regions, respectively.



[hap) =0
where | ] means the jump in the quantity across the hypersurface.
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Ki“b:Vﬁn’ae?‘Ce?bhfa, ob = Vgnge % eP
where Vg is the symbol for covariant derivative and ni, n%, are the inner and

outer normals to the shell,
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Can envisage as an equation of state p = p(o,R, Q).



The shell’s redshift function k& is

2m Q2
k=\1——+—=.
R * R?
Then 5 ) 5
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4R 16TR3k
Define rest mass M as
=— M=R(1—k).
o=, m (1—k)
One is led to an equation for the ADM mass m,
M2 QZ
M- — 4=
" 2R 2R

This equation is intuitive in physical grounds as it states that the total energy
m of the shell is given by its mass M minus the energy required to built it

. . . . . . 2 2
against the action of gravitational and electrostatic forces, i.e., —% + g—R.



The gravitational radius r and the Cauchy horizon r_ of the shell spacetime

are
rey=m+vVm*—0%, r_=m—+/m?*—Q2.

The gravitational radius r; is also the horizon radius when the shell radius R
is inside r,, i.e., the spacetime contains a black hole. Inverting

m=(ry+r_), Q=./r{r_.

Then k can be written as
ry r_
D)
k \/( R R

The gravitational area A and the area A of the shell are

Ay =4nrk, A=4nR?

Shell should obey
R Z ry.



The Faraday-Maxwell tensor Fg is defined in terms of an electromagnetic
four-potential Ay by

F(Zﬁ = aaAB - aﬁAa .

To use the thin shell formalism related to the electric part we need to specify
the vector potential A, in each side of the shell. Assume an electric ansatz
Ag = (—9,0,0,0).

In the inner and outer regions get
_ 0 _ 0
o = z +constant, r <R, ¢, = — +constant, r > R.
r
where Q is a constant, to be interpreted as the conserved electric charge. Now
Aa - Aa eg
is the projected 4-potential intrinsic to the shell. Then

[Aa]zoa
¢o:¢i, r=R.

gives at R



The tangential components F;, of the electromagnetic tensor Fgg must
change smoothly across X,

[Fab] = 07
with . .
izb :szﬁezqaezpb’ FZb :ngﬁegaegb’
while the normal components F,,; must change by a jump as,
[F,1] =4n0o,.u,,

where i i oo B o _ o a B
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and o,u, is the surface electric current, with ¢, being the density of charge
and u, its 3-velocity, defined on the shell. Then on the shell,
aq’o a(pt
— — =—4xnoc, =R.
ar  dr e T
Finally 0

ﬁ =4ro,.




Now the shell is hot. The fluid is still perfect. Should then turn to the
thermodynamic side and to the calculation of the entropy of the shell. The
shell possesses a well defined temperature 7" and an entropy S which is a

function of M, A, Q, i.e.,
S=SM,A,Q).

The first law of thermodynamics is then
TdS = dM + pdA — ®dQ .

To find S, one needs three equations of state

p=pM,A,Q),

B = B(M,A,Q),

b =Pd(M,A,Q),
where _ l
=7

T and @ play a role of integration factors, i.e., there will be integrability
conditions.



The integrability conditions must be specified in order to guarantee the
existence of an expression for the entropy, so dS is exact. They are

(), ().,
(30),, = (o).
(30),= (9%

These determine the relations between the three equations of state of the
system, here the shell.

From the first law of thermodynamics one can perform a thermodynamic
study of the local intrinsic stability of the shell,

BSN g (PSN(PS\_( 5N
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plus four other equations.



From now onwards we work with the three independent variables

(M,R,Q).

Ris simpler then A, (R =1/ ).
We should now envisage all quantitites as functions of (M, R, Q),
M2 Q2
M,R.Q)=M— — +—
m( Y ? Q) 2R —"_ 2R ?

r(M,R,Q) = m(M.R.Q) +/m(M,R,0)* — 0,
r(M.R.Q) =m(M.R,Q) ~/m(M.R.0)* - Q.
k(rJr(M?Ra Q),l",(M,R, Q);R) =

\/(1 (MR, Q)) (1 (MR, Q)> ‘
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The pressure equation of state:

Expressing the pressure equation of state as a function of (M, R, Q)

M2 _ Q2
M,R =—.
Changing from the variables (M, R, Q) to (r,,r_,R) which is more useful find

R (1—k)?—ryr_
Plrer—R) = —

where k can be envisaged as k = k(r_,r_,R) and r and r_ are functions of
(M,R,Q).

This equation is a pure consequence of the Einstein equation, encoded in the
junction conditions.



The temperature equation of state:

. o . B (B .
Now we have the integrability condition (B_A)M,Q = (TA;)A o Changing

)

from the variables (M,R,Q) to (r;,r—,R) it becomes

(8_[)’) _ BR(r+ +2rI;3)k; 2ryr_ ,

which has the solution

B(ry,r—,R) =b(ry,r-)k,
where k is the redshift function, function of r;, r_, and R.
Also b(ry,r—) = B(ee,ry,r—) is an arbitrary function, representing the inverse
of the temperature of the shell if its radius were infinite.
Hence, our formalism recovers Tolman’s formula for the temperature of a
body in curved spacetime. The arbitrariness of this function is due to the fact
that the matter fields of the shell have to be specified. Note that b and k are
still functions of (M,R, Q).



The electric potential equation of state:
The integrability conditions give

oDk
R? (—) —/rysr— =0
aR Fy,r—

where again k can be envisaged as k = k(r,r_,R). The solution is

(P (r +,r —) - %
k )
where ¢ (ry,r_) = ®(co,ry,r_) is an arbitrary function that corresponds to
the electric potential of the shell if it were at infinity. P is the difference in the
electric potential ¢ between infinity and R, blueshifted from infinity to R.
It is convenient to define c(ry,r_) = % orc(ry,r-)= ‘P\(/’L) So
1
(r+ 7 ) R
O(rp,r-,R) = —— 2 \frir_.

CI)(I"JF,I",,R) =



Have all necessary information to calculate the entropy S of the shell.
Inserting the equations of state for pressure, temperature, and electric
potential, into the first law 7dS = dM + pdA + ®dQ find
1-— _)r— 1— _
as=b(ry,r ) TN gy L
It has its own integrability condition if dS is to be an exact differential,

db db dc dc
ari(l—r,C) a +(l—I’LFC) Ibr,—xbr+.
S0 S=5S(rer-).

the entropy is a function of r and r_. In fact S is a function of (M,R,Q), but
dependence has to be through r (M,R,Q) and r_(M,R, Q),

S(M7R7Q> = S(r-i-(MaR: Q)?r—(M7R7 Q)) :

To obtain a specific expression for S one can choose either b or ¢, the other
function comes from integrability. Since it is a differential equation there is
some freedom.



L. b(ry,r-) =2a(ry +r-)%,
c(ry,r-)=2d (rer_)?

(retr)®”
Then,
o+1 S+1
S(ryor-) =a [P —a e,
2 b(r+7r—) = rﬁ(frr) P
c(ry,r-) = %
Then,

ry—r_’
c(ry,ro)=-=1
Then,
S(ro)y =14 -1 gy
4. b(ry,r-) =by
c(ry,r—) =c(ryr-).
Then,



Now, the black hole limit is R — r.. The shell hovering at its own
gravitational radius.

The shell adjusts to the environmental spacetime: quantum fields and
back-reaction diverge unless choose the black hole Hawking Ty, for the shell,

2
I 4n 3

b(ry,r-) = T A re—r
Choose also |
c(ry,r-) = o
Get |
g 14s
44,

the Bekenstein-Hawking entropy. The pressure and the thermodynamic
electric potential go to infinity as 1/k. The local inverse temperature goes to
zero as k, and the local temperature of the shell goes to infinity as 1/k. These
well controlled infinities cancel out in the first law to give the entropy.

As A = A, all the shell’s fundamental degrees of freedom have been excited.



There are similarities between the thin shell approach and the black hole
mechanics approach. These are evident if we express the differential of the
entropy of the charged shell in terms of the black hole ADM mass m and
charge Q, given in terms of the variables (r,r_). The differential for the
entropy of the shell reads in these variables

TodS =dm—cQdQ,

where we have defined Ty = 1/b(r;,r—) which is the temperature the shell
would possess if located at infinity. Here, Ty = 1/b(r4,r—) and ¢ = ¢(r4,r-)
should be seen as Ty (m, Q) = 1/b(m,Q) and ¢(m, Q), respectively, since r
and r_ are functions of m and Q. As we have seen, if we take the shell to its
gravitational radius, we must fix Tp = Ty and ¢ = 1/r. This suggests that
Q/r should play the role of the black hole electric potential @y, which in
fact is true. So the conservation of energy of the shell is expressed as

TondSph = dm — P dQ .

We thus see that the first law of thermodynamics for the shell at its own
gravitational radius is equal to the energy conservation for the black hole.



Here, 2 dr?
dsﬁ:—(l—T) A2+ —"—— +2d0?, r>R,
v (=7)
r
M
re=r-=m=0 o P

The first law of thermodynamics
TdS = dM + pdA — ®dQ,
gives now dS =B (1—®)dr, .
Integrability gives B(l—®)=s(ry).
Thus S = S(r) for R > ry. In particular in the black hole limit
§=S(ry), R=ry,
Can argue 1A,

0<S(r+)_4A

or0 < S(ry) <mri.
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